&F0 265y i = X 15
i KATE 4 : SRR S ET _ ﬁﬁ&m#ﬁ?%%hh
S (TR wass @M m oW g [P ACEERTEECEA RS
AR AT LR ’ ’ ’ ’ ’ ’
1 BRI o B A Hl X I 3. L 5. 4
2 LERLIA o i 30 | L1 4 7o 18 27
(E [k (A% 50 | L1| be#E phvE M pb7E
[iRcaglor | dEe
1 344k — —IF 6.1 — —
2 AR PN o B A h DI #i 3. 1l 5. 4
3 kEICLAh o> sk 30 | 11| 4.0 7.0 18H 27
— AR A A X 1
1 o - e 14k 21
2 FREEIRELHIE P o BT i fill 2. ot 5. 7]
3 LECEUt oo HbIR 30 | L1|F 3.8F 7.5F 17F 25
o FrBF AT AR X
1 @S - et 14P 21
2 BEIREUEL N 0 B O fill 3. Ol 5. 0|
3 LRELSt o 30 | L1|F 40F 6.4 17 25
LN T LA X
1 #5in | 4 e b 14k 21
2 RAIREIEA O 5 A ff 3. 3 5.0
3 _LERCEA DR 30 | 119 4.1f 6.4 15 23
s NCE g £ 30 | 1.1 —s7 - -
* A AR Xk
1 BEEIR B P oD B M X I 3. O 5. 0)
2 LERLIS o s 30 | L1 4.0 640 17h 26
i s T LR Xk
1 &5 — 4. 6 p 14p 2]
2 FRSENRER I P o 5 ol 3. 1l 5. 4
3 kR 30 | L1 41ff .o 18H 27




&F0 265y i = X °H
j;rﬁlzmﬂf% : SRR ST _ ﬁmm#ﬁ{%ﬁ%h_
SR ks w0 W e w4 [P PERERTIEEETA RS

% e = * ® = # ®
2 HniA T LA Xk
1 A —|# 4. 1 6.1 — —
2 REEEIR N o B A R I #L 3. 3%l 5. 0
3 FELS o 30 | L1|P 4 esqd —|  —
EOE i Ik 50 | 1.1| th¥E PR¥E bbME bR
AT AR K ek
1 4 — e 14 21
2 REERELMIR o B A i 3. 1t 5. 4
3 LRI o HikE
(1) EE2 5 480 40 | L5|H 1l 184 39k 57
(2) HI3E1 - 21 (HEE254) 5840 | L2(% 114 184 39 57
S
(3) _EREELASDHUR 40 | 1.1 (% 4.0 7.0 18 27
LREE AT (LA Xk
1 5Bk R - R e 14 21
2 EShH - e E 14 21
3 FRSEIRBE I o 5% Wl 3. 6l 5. 0
4 BRSO HE 30 | L1 4.6F 6.4F 17 25
EARE A b AR X g
1 R4k —{F 4 6 14 21
2 FRIER LI N o B Hh X ft 3. 3 5. 0
3 _ERLEMA ot 30 | 119 4.1F 6.4 154 23
E¥& A AR K
1 REEHRE M N o B A g 2. 98 5.7
2 RECEAA oo iR 30 | L1|F 3.8 r.o 17 26
AV T L X
1 RSERBUHEE PN 0 B T s fili 2. o 5. 7)
2 _ERCLMAE Ot 30 | L1|% 3.8 7.5 17 26
pbUEI~2TH [HELKER




&F0 265y i = X 3E
i KATE 4 : SRR S ET s LB =
p| 7 TR aRe  E W % A e T Tk e | s [
N b LELI~2TH 1 FEE O H IR O 8 2S T2E i 500/0 1.5= J:I:ig tl:i”g J:I:é I:I:fgl ’ ’
&g o TV D HIE
2 bR O IR 50 | L.2| bk bRl HME bbTE
&| bR T LR Kk
1 BRI N 0 B M K fill 2. 9l 6. 1
2 EREEMA O 30 | L1|F3.8F 7.9 171 2§
<| friE e LR (K Ja
g % 4. yF 6. 14 21
2 RAIREHIRA O 5 A H Hl 3. Ot 5. 0)
3 _ERCLIAA DR 30 | 1.1|% 3.9 6.4 15 23
U &57 A LA Kk
1 BEER BRI o 2 Al DX ML 3. Ol 5.7
2 ERCEAA OISR 30 | L1|% 3.9 7.9 21t 31
B (LR K iak
1 RS —{F 3.8 6 14 21
2 BRI oD B A X e il 3. 5l 4.4
3 kLo 30 | L1|P 4.4 584 13 21
THE b K 50 | 11| ke#ty PhiE bedH BRIE
A b AR X g
1 R4k - e 14 21
2 FRIER LI N o B Hh X ft 3. 1 5. 4
3 _ERLEMA ot 30 | 114 4.0 .08 184 27
TREHK i LR K ik
1 AR MR A R =% 4. F 5.8%F 14 21
2 LA —| 4.1 5.7 14 21
3 BEIREUEL PN 0 B 3. 600 5.0
4 RRELA M 30 | L1 48 640 16 24
T/hRE TR AR K ek
1 A 1 4 0F 6 1 14 21




A0 205y s ® K 48
j;rﬁlzmﬁﬁ : SRR ST _ ﬁmmﬁ%%%
SR ks w0 W e w4 [P PERERTIEEETA RS
IRYNY D BRI O R F O T P T I

3 kRIS Hk 30 | 114 4.1 6.4 15 23
T AT {L A X
1 EREiR B s Py o 2 R il KO 2. ot 5. 7]
2 FEREAAh o Mgk 30 | L1|h 3.gd 7.9 17 26
T T AR X
1 R N o B A Hh I #i 2.9 5.7
2 RELEA o 30 | 11| 3.gf .o 17 26
EE A A X 1
1 R R sk PN 0D SR X Js 3. 2t 6. 1
2 hEEA o i 30 | 1% 3.9 .9 17 26
H A AR K
1 REERE MG o 2 DO 2. ot 5. 0)
2 RECEAh oot 30 | L1|% 3.8 6.4 17 26
| L TR T LR K dek
1 UCRR R 2 P —F 4 6 14 21
2 A —+ 4 g 6 b 14 21
3 RERELMIGA o B A K Gl 3. 600 5.0
4 LRSS OHIR 30 | L1|F 470 6.4 17 25
HH FL 5 A LA K ik
1 SRR 2K —|% 4. 0F 6. 14 21
2 i —|F 4 6 14 21
3 BRSEMRHMI N oD B A 3. 6 5. 0
4 RSO 30 | L1 4.6f 6.4 16 24
LA T LR Xk
1 SRR R A I —|# 41 6 14 21
2 A —{h 4 o 14 21
3 RIEHREUMIE N O A O 3. (T@ 5. 0)




&F0 265y i = X 5E
AT A4 - AR AR B BT SR IIBIEE
S (TR wass @M m oW g [P ACEERTEECEA RS
| Ak 4 ERLSAOHIR IR TR P P PR e B
&| HH Exith - |56t 14 21
b=PEPIE AT {L A X
1 HoiHh —{F 2.7 e 14 21
2 EEEIRER I P oD H A e 3. 3l 5.0
3 LR g 30 | L1 4 1fb 6.4 155 23
S P HET AT LA DI
1 1ES —| 4 6 14 21
2 IR 0 B i X 3. 3l 5.0
3 kLUK 30 | L1 4 b 64 17 24
Al b X 50 | 1.1| fb¥H LW YR HH
T A R ik
1 REERE MG o 2 DO 2. ot 6. 1
2 hEELAh oo Hitdk 40 | L1|% 3.8F 7.9% 171 26
7s b 50 | 11| LeHH RRYE LU ERYE
T LA X b
1 5 —# 3.5 3.9 14 21
2 RERELMIGA o B A K Gl 3. 10 5. 4
3 LReLst iR
(1){1?55-?1—21 (HEGE2 54) B84 40 | 2P 12 18 39 57
i
(2) —%, LFR. EF. #8, 28, |40 | L1 [F 6.4 154 30 44
¥
(3) _LEECAShDHEL 40 | L1 4.0 7.5 18 27
= ML Rk 50 | 1.1| Le¥E bR RHE bV
T LR Xk
1 &5 —# 2.9 39 14 2]
2 FRSENRER I P o 5 ol 3. Ot 6. 1
3 RECLISh oo HuE 30 | L1|f 4.0 7.9F 17 25




&F0 265y i = X 6
AT A4 - AR AR B BT SR IIBIEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% = 2 e & # ®
\Z| H i AT LR
1 A —H 4 SR 14 2y
2 FEEIRBE AN 0 B A Hh X 2. ol 5. 0)
3 _EILISh o HE, 30 | L1 3.9F 6.4F 17 26
S A% Xk
1 ARk R R g —|# 3.3 6 14 21
2 A 3.3 el 14 21
3 REERELMIE o B A i 2. ot 5. 0)
4 _EFLLAS o i 30 | L1|H 3.9% 6.4 17H 25
Pl TR b A X
1 FREEIRG R o B T 3. 30 5. 0
2 _EFLSh oM 30 | L1|F 4 1F 6.4F 17F 26
AE1~5TH T b I
1 WT3E 2 — 2 9 B 50 | 1.1| k¥ ERME YR ERHY
2 LRELIA o Mt 50 1.2 Lb¥E bbYE ELME RREE
N6 TH i 50 | 12| Lk¥H bbdE pkME  phUH
O Rz TR R X g
1 BFEREHIRN O R A KR Gl 3. 30 5.0
2 EERLA O 30 | L1|F 4 F 6.4% 15F 23
HEP T LR I
1 BRI P 00 B A K —iHi 4.4
2 LRSS OHIR -  —f 5.6h 14 21
i LR R
1 BEEEREHIE P o A K0 fitl 3. 2 5. 5
2 LELIS o i, 30 | L1|P 4o 7.0F 21ff 31
5 IRIZ it b 50 | L.1| ¥ k¥R HeYE LEHE
AT AR K ek
1 IS —|#¥ 3.5% 6.7 144 21




ST 265y i = X 7H
i KATE 4 : SRR S ET RIS
e R ks @ A o w4 [P PEEERTIBEITOGES
AP D BERARPIR O B RO LT P T s I I
3 RSt OHUR
(1) RAET, ¥EEMEET, FAHET, 17/
1EWT, AR FHET, FPRET, PHESHT,
Aij4R, FEAHET
4 WE1-21 (AEE254) |40 | L3+ 1 18+ 394 57
SRR
(=S oA MO R 40 | 1.1 |9 5.6 10t 200 30
(2) LERLsoHg 30 | L1 3.8 7.5 171 25
EJRELE T LA X
1 AR R R —|# 41 61 14h 21
2 B —|% 4. 0F 6. 1 14 21
3 FEEHREHIE PN 0> B A i D 3. O 5. 0)
4 FFEELS O MR 30 | 1.1|% 4.0f 6.4 17 25
Kk AT (LA Xk
1 HoiHh —{F 41 e 14 21
2 BRI oD B A X e il 3. 3%l 5.0
3 kLo 30 | L1 4 1fb 6.4 155 23
7 PR B AT AR DI
1 REEIRME N o B A Hi X I il 3. ot 6. 1
2 LR oM 30 | L1|H 3.8 7.9% 17H 26
=RE T A g
1 @S —|F 2.7F 6. 1|F 144 21
2 REEIREIEN 0 B 3. 3ffi 5.0
3 REELS O Mg 30 | L1 41 6.4F 155 23
L] T AR X
1 REIREHRIE N 0 B Sl 2. 9l 5.0
2 LRELSt O 30 | L)% 3.8 6.4t 17h 26
ol iR T LA X
1 A 1 4 0F 6 1 14 21




ST 265y i = X 8
AT A4 - AR AR B BT SR IIBIEE
S (TR wass @M m oW g [P ACEERTEECEA RS
oo g D BRI O R F O (L P P A T I
3 ERLIS oK 30 | L1|F 4 qf 6.2 15 23
GES AT {L A X
1 EREiR B s Py o 2 R il KO #3. Ot 5. 7)
2 FEREAAh o Mgk 30 | L1|h 3.gd 7.9 17 26
oy AT AR K ek
1 RS54k —{ 41t e R 14 21
2 REERELMIR o B A i 3. 3t 5.0
3 LRELUh o K 30 | L1 41k 6.4F 15+ 23
s = AT LA X
1 FTARRR AR A B —|H 41 5 14 21
2 24 —{F 4. 1F 5.5 14 21
3 IR EM I o 5 DO 3. Ot 4. 8
4 bR oMbk 30 | L1|F 40F 6.2% 17% 25
X EIR T LR K dek
1 RERBHE N 0 B Al X fili 2. i 5. 0)
2 _ERCEA Ot 30 | L1|% 3.9 6.4 17 26




